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gman body, then answer the fnlloq[.‘“"“' and its effects on the

yhen you take a shower, your body will get wet, the skin will become moist,
he resistance of the body will decrease to (1000 Q). If you want to use an

dectrical device with a plug connected to a (120 V) electrical source.
« Calculate the amount of current you receive.
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| * Based on the amount of current you calculated and the table above,
f what effect might this have on your body?
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B. Schematic diagrams (a) and (b), each showing method of
connecting three identical lamps in an dectrka:.c:rcnit to a similar

power supply line. Based on the schematic dig the
following: =
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* What is the name of the way the three lam f
the schematic diagrams? y ps are connected in each o
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Schematic diagrams (a) (2) Jadaseal! syl
Schematic diagrams (b) (b) Jadainal aua)

* Study each schematic diagram (a) and (b) well, determine which one
of them fits each question in the table, by putting a sign (v).
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X Three resistors Ry = 6 0, R, = 12 12, and R3 = 2 1 are connected as
shown in schematic diagram below. An ammeter measures an electric
current of 3 A flowing through resistor K.
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« Find the potential difference applied between the two points (LM).
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A. A student wrote in his science notebook statements for the lesson oy the
properties of magnets, as follows:

1l LS st sy Uikl unilly Rualss g 4y ol pylall llasdla s § oo g o
Imwmwamm |
Properties of Magnets hilaall jilad

1- A magnet has two opposite ends, called poles, a north pole, and a south pole, v/
V' 9t vy e b ol i GG el gy 1
| 2- When the magnet is suspended freely by a string, and after it is at rest, s worth pole
points 1o the north acomagnetic pole, which is the aeographic vorth pole, X
il gag alai] yio Bl viblisoll wiad)| ol Ay yWlad aghad Ol oiges 3299« A Sy by ywblinall Gylai e -7 |
X ol gl oy
3 - A magnertic monopole (north or south pole) can be detained by cutting (breaking) a magpet. X
X sublisoll g (ygia uiab gl Wl wkad) vusbliao yiolal wiab e Joaall s -3
4- Like poles of magnets repel each other, and wnlike poles attract, v
V' sl Gl uladllg 9l bl dayliial sl -4
| 5- when a magwet touches a metal clip, it turms it into a temporary maguet. This
' process is called magnetization by covduction. X
X Juogily dhigall vici dilasll 03 (o Luybliso aio Jay aild wiano cluitol abliao dsollo 3ic 5

| The student submitted his work to his teacher to get feedback, and then

received (v) or (X) marks, with the wrong part underlined as shown above.
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» Help the student to correct each wrong statement by writing the correct
scientific alternative.
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C. In his science notebook, a student drew the magnetic field lines of a
magnet, as shown in the figure.
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= Identify two different mistakes (errors) made by the student that
violated two different properties of magnetic field lines.
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B. A COPPEr wire o
gap between ¢y,

45 a strength of (1.9 7).
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Determine the magnitude and d
wire when the switch is closed.

irection of the magnetic force on the
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